doil| | & sl

V(X)=3 (x—uPf(x)
1(X) = [ (x—ppf (x)dx e s e
V(X)) el s e gt ln sae X o e 25 alad 2L e

X 0| 1]2 £ sandl
P(X = X) 14| 12 | 14 »
X*P(X) 0 | 1212 EX)=p=1
(X-p)? 101

X-w2*P(X) | 14| 0 | U4| V(X)=1/2
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f(x) =

o

V(X) = E(X?) - E(X)?
V(CX)=CV(X) , V(C)=0
Leguzny 8 O izl Al (3
V(X -Y)=V(X)+ V(Y) . VX +Y)=V(X) + V(Y)
Gapall plisial V(X)) el g0 e Jsad) e sie X ponnd e 2085 anbd 2 1l
- V(X) = E(X?) - E(X)?
W sl b5 ol e oo Bzl 7 iy 35 o A ¢ V(YY) T LY = 2X 5l S
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X 0 1 2 § sasall
P(X = x) 1/4 1/2 1/4 1

X P(X) 0 1/2 12 |EX)=p=1
(X)? 0 1 4

(X)2* P(X) 0 1/2 1 E(X)2 = 3/2

V(X) = E(X?) - E(X)2=(3/2)-1=1/2

V(Y) = V(2X) = 22V(X) = 4 (1/2) = 2.

V(W) = V(Z-2X) = V(Z) +V(2X) = V(Z) + 22V(X).

V(2) = E(Z?) — E(2)2 = (1/6)[12+22+32+42+52+62]-(1/6)[1+2+3+4+5+6] = 70/6
V(W) = (70/6) + 4 (1/2) = 82/6 = 13.67
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E(X*) = E(M) ~LEx - = L[ECO - E()]=0
O o O

V(X = E[(X *E(X*)F]= E[(X *-0F] = E(X *2) = E[(X;—;‘)Z};ax ~up=Z=1
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E(X)=>"" xP(X=x)=>" xf(x)
E(X) = jf:xf (x)dx

EQC)=C e @5 V(C)=0
E(CX) = CE(X) V(CX) = C3V(X)
Loguzny o8 0Ll Szl Al 3
E(X+Y) = E(X) + E(Y) V(X +Y) = V(X) + V(Y)
V(X-Y)=V(X)+ V(Y) ,
E(XY) = E(X)E(Y) Lgan; o0 OGpad) Izl > 3 V(X) = E(X?) - E(X)2
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E(Y) =E(@()) =Y 900 f (%)
E(Y)=E(9(x) =] a(x)f (x)dx
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